
 
PostScript3 Unit Type M25                                 (D3D4) 
IPDS Unit Type M25                                           (D3D4) 
OCR Unit Type M13                                           (D3AC) 
XPS Direct Print Option Type M25                     (D3D4) 
DataOverwriteSecurity Unit Type M19               (D3BS) 
IEEE 1284 Interface Board Type M19                (D3C0) 
File Format Converter Type M19                        (D3BR) 
IEEE 802.11a/g/n Interface Unit Type M19        (D3BR) 
Copy Connector Type M25                                 (D3D3) 
USB Device Server Option Type M19                (D3BC) 
Extended USB Board Type M19                         (D3BS) 
Enhanced Security HDD Option Type M10         (D792) 
SD Card for Fonts Type D                                   (D641) 
Optional Counter Interface Unit Type M12          (B870) 
NFC Card Reader Type M19                              (D3BS) 
Smart Card Reader Built-in Unit Type M19        (D3BS) 
Key Counter Bracket Type1027                          (B452) 

 
PARTS CATALOG 

 

This catalog gives the numbers and names of parts on this machine. 
 

CONTENTS 
 

1. Controller Options 1.......................................  2 P 
2. Controller Options 2.......................................  4 P 
3. Other Options.................................................  6 P 
4. Parts Index.....................................................  8 P 

 
 
 
 
 

May 18, 2016 V1.00 

 

1 



 

PostScript3 Unit Type M25 (D3D4-05, 06, 07)

IEEE 802.11a/g/n Interface Unit Type M19 (D3BR01)

Copy Connector Type M25 (D3D301)

IPDS Unit Type M25 (D3D4-20, 21, 22)

OCR Unit Type M13 (D3AC-23, 24, 25)

DataOverwriteSecurity Unit Type M19 (D3BS03)

IEEE 1284 Interface Board Type M19 (D3C017)

File Format Converter Type M19 (D3BR04)

1

XPS Direct Print Option Type M25 (D3D4-24, 25, 26)

4

8

11 12

9 10

2

3

5

7

6

 

1. Controller Options 1 

 

2 



Index

No.
Part No. Description

Q’ty Per

Assembly

Index

No.
Part No. Description

Q’ty Per

Assembly

1 D3D4 5005 SD-CARD:PS3:ASS'Y 1

2 D3D4 5020 SD-CARD:IPDS:ASS'Y 1

3 D3AC 5023 SD-CARD:OCR:15S:ASS'Y 1

4 D3D4 5024 SD-CARD:XPS:ASS'Y 1

5 D3BS 5003 SD-CARD:Z V4:ASS'Y 1

6 D3C0 5601 PCB:IEEE1284:ASS'Y 1

7 D3BR 5603 PCB:MLB32:ASS'Y 1

8 D3BR 5200 PCB:WLAN RIO4:ASS'Y 1

9 B129 5008 CAP - LAN CONNECTOR 1

10 D377 5698 VELCRO FASTENER:COVER:ANTENNA:250 2

11 D3BN 5205 PCB:D3BN-05:ASS'Y 1

12 D3D3 5299 CABLE:LAN CAT6 UTP 13.5M 1

1. Controller Options 1

 

 

 

 

 

 

3 



 

 

5

SD Card for Fonts Type D (D64154)

Optional Counter Interface Unit Type M12 (B87021)

6

7

1038

106105104

Enhanced Security HDD Option Type M10 (D79209)

USB Device Server Option Type M19 (D3BC-28, 29)

101

102

2

Extended USB Board Type M19 (D3BS01)

4

3

1

 

2. Controller Options 2 

 

4 



Index

No.
Part No. Description

Q’ty Per

Assembly

Index

No.
Part No. Description

Q’ty Per

Assembly

1 D3BC 5628 PCB:PRINT-SERVER:ASS'Y 1 101 1105 0047 TY - WRAP 2

2 D3A7 5130 CABLE:120:POWER CONNECT 1 102 1607 2595 FERRITE CORE:GRFC-13 2

3 D3BS 5200 PCB:AIR-PRINT:ASS'Y 1 103 0451 3006N TAPPING SCREW - 3X6 4

4 B154 5865 CAP:CONNECTOR:USB 1 104 1105 0046 HARNESS BAND 4

5 RE01 0393 HDD:320GB:FIPS 1 105 1105 0195 PCB STUD 4

6 D641 6154 SD-CARD:FONTSD:11A:ASS'Y 1 106 1105 0508 HARNESS CLAMP - LWS-0711 1

7 D202 5680 PCB:MKB 1

8 B870 5511 HARNESS:IOB:MKB 1

2. Controller Options 2

 

 

 

 

 

 

5 



 

 

NFC Card Reader Type M19 (D3BS21) Smart Card Reader Built-in Unit Type M19 (D3BS22)

Key Counter Bracket Type1027 (B45257)

 

3. Other Options 

 

6 



Index

No.
Part No. Description

Q’ty Per

Assembly

Index

No.
Part No. Description

Q’ty Per

Assembly

1 D3BS 1211 COVER:FRONT:UPPER 1 101 1607 2247 FERRITE CORE:K3 NF-55(N)BK0 1

2 D3BS 1212 COVER:IC CARD:ASS'Y 1 102 0344 0160F TAPPING TRUSS HEAD SCREW - M4X16 1

3 D739 1224 SPONGE:20X20 2 103 0414 0082N BINDING SELF-TAPPING SCREW:M4X8 3

4 D739 1225 SPACER:IC CARD 1 104 0451 3006N TAPPING SCREW - 3X6 2

5 D3AC 1410 IC CARD:NFC RW:TF:TR63036 1

6 D3AC 1411 CABLE:USB:NFC 1

7 B452 5868 BRACKET:KEY COUNTER HOLDER:REAR 1

8 B452 5869 BRACKET:KEY COUNTER HOLDER:FRONT 1

9 B452 5100 KEY COUNTER HARNESS 1

10 B452 1063 PLATE NUT:KEY COUNTER HOLDER 2

11 B452 1055 BRACKET:KEY COUNTER HOLDER:ASS'Y 1

12 B452 1260 KEY COUNTER HOLDER COVER 1

13 AA14 3710 STEPPED SCREW - M4 1

3. Other Options

 

 

 

 

 

 

7 



4. Parts Index

Part No. Description Part No. Description

0344 0160F TAPPING TRUSS HEAD SCREW - M4X16 7 - 102 D3BR 5200 PCB:WLAN RIO4:ASS'Y 3 - 8

0414 0082N BINDING SELF-TAPPING SCREW:M4X8 7 - 103 D3BR 5603 PCB:MLB32:ASS'Y 3 - 7

0451 3006N TAPPING SCREW - 3X6 5 - 103 D3BS 1211 COVER:FRONT:UPPER 7 - 1

0451 3006N TAPPING SCREW - 3X6 7 - 104 D3BS 1212 COVER:IC CARD:ASS'Y 7 - 2

1105 0046 HARNESS BAND 5 - 104 D3BS 5003 SD-CARD:Z V4:ASS'Y 3 - 5

1105 0047 TY - WRAP 5 - 101 D3BS 5200 PCB:AIR-PRINT:ASS'Y 5 - 3

1105 0195 PCB STUD 5 - 105 D3C0 5601 PCB:IEEE1284:ASS'Y 3 - 6

1105 0508 HARNESS CLAMP - LWS-0711 5 - 106 D3D3 5299 CABLE:LAN CAT6 UTP 13.5M 3 - 12

1607 2247 FERRITE CORE:K3 NF-55(N)BK0 7 - 101 D3D4 5005 SD-CARD:PS3:ASS'Y 3 - 1

1607 2595 FERRITE CORE:GRFC-13 5 102 D3D4 5020 SD-CARD:IPDS:ASS'Y 3 - 2

AA14 3710 STEPPED SCREW - M4 7 - 13 D3D4 5024 SD-CARD:XPS:ASS'Y 3 - 4

B129 5008 CAP - LAN CONNECTOR 3 - 9 D641 6154 SD-CARD:FONTSD:11A:ASS'Y 5 - 6

B154 5865 CAP:CONNECTOR:USB 5 - 4 D739 1224 SPONGE:20X20 7 - 3

B452 1055 BRACKET:KEY COUNTER HOLDER:ASS'Y 7 - 11 D739 1225 SPACER:IC CARD 7 - 4

B452 1063 PLATE NUT:KEY COUNTER HOLDER 7 - 10 RE01 0393 HDD:320GB:FIPS 5 - 5

B452 1260 KEY COUNTER HOLDER COVER 7 - 12 -

B452 5100 KEY COUNTER HARNESS 7 - 9 -

B452 5868 BRACKET:KEY COUNTER HOLDER:REAR 7 - 7 -

B452 5869 BRACKET:KEY COUNTER HOLDER:FRONT 7 - 8 -

B870 5511 HARNESS:IOB:MKB 5 - 8 -

D202 5680 PCB:MKB 5 - 7 -

D377 5698 VELCRO FASTENER:COVER:ANTENNA:250 3 - 10 -

D3A7 5130 CABLE:120:POWER CONNECT 5 - 2 -

D3AC 1410 IC CARD:NFC RW:TF:TR63036 7 - 5 -

D3AC 1411 CABLE:USB:NFC 7 - 6 -

D3AC 5023 SD-CARD:OCR:15S:ASS'Y 3 - 3 -

D3BC 5628 PCB:PRINT-SERVER:ASS'Y 5 - 1 -

D3BN 5205 PCB:D3BN-05:ASS'Y 3 - 11 -

Page and

Index No.

Page and

Index No.

 

 

8 


	1. Controller Options 1
	2. Controller Options 2
	3. Other Options
	4. Parts Index

